
SAP ABAP table T7EHS00_QUESTQ {Individual Questions in Questionnaire}

T7EHS00_QUESTQ

MANDT [CLNT (3)]

Q_ID [NUMC (6)]

QUEST_QCATALOG [NUMC (3)]

QUEST_GROUP [NUMC (2)]

QUEST_ID [NUMC (5)]

QUEST_OCCUR [NUMC (3)]

T000

MANDT [CLNT (3)]
 T7EHS00_QUESTQ-MANDT = T000-MANDT 

0..N

1

T7EHS00_CATALOG

MANDT [CLNT (3)]

QUEST_CATALOG [NUMC (3)]

 T7EHS00_QUESTQ-QUEST_QCATALOG = T7EHS00_CATALOG-QUEST_CATALOG 
0..N

1

T7EHS00_QGROUP

MANDT [CLNT (3)]

QUEST_CATALOG [NUMC (3)]

QUEST_GROUP [NUMC (2)]

 T7EHS00_QUESTQ-QUEST_GROUP = T7EHS00_QGROUP-QUEST_GROUP 

0..N

1

T7EHS00_QUEST

MANDT [CLNT (3)]

Q_ID [NUMC (6)]

 T7EHS00_QUESTQ-Q_ID = T7EHS00_QUEST-Q_ID 

0..N

1


